X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
1 NS: {o[528) FiEGER(FHO) 5 6 NS: B[REK ZEFEE(BAC) 9 VP:| 10.00 : 10.00| Total VP: 53.52 Rank:
EW: #&H #84&EAC) -9 EW: &£F 2 EEE (FF0) -5 IMP:| 19 19 6
_ —_ oy
# 11 » AQ7 3HE3 -140 Mean: 1SS1 80 40 1 [[|# 12 8 4SE4 -420 Mean: 1NE3 150 6.0 2
v AQ95 2HE2 110 -80  2SS-1 -50 10 2 v KJ5 4SE5 -450 -380  4SE4 420 1.0 7
¢ 974 Dif: -30 NS:-2 3SS-2 100 1.0 1 ¢ JT4 Dif: 30 NS:-1  3NW3 400 1.0 1
» J74 IMP: -1 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: 1 EW:2 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 » K9 3DE3 -110 Mean: 3NW-2 200 70 1 ||# 14 » Q986 2HW3 -140 Mean: 4HW-2 100 40 3
v QT43 2DE3 110 90  3HN3 140 6.0 1 w7 4HW-2100 -40  4HW-1 50 3.0 3
T Dif: 0 NS:-1 2SS2 110 50 2 ¢ AJB2 Dif: -240 NS:-3 1SW1 80 1.0 1
& QT9532 IMP: 0 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: -6 EW:-4 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN , Q8432 1NN-2 200 -3.0 1 POEVEN L J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 2HW2 -110 Mean: 4HW-2 100 40 1 |[|# 16 4 76 3NS-3-150 Mean: 4HS5 450 7.0 1
v6 4HW-2100 -40  3NW-2 100 40 1 v AKJ72 2HN3 140 140  4HN4 420 7.0 1
o JT87652 Dif: -210 NS:-2 4HW-1 50 30 5 + Q83 Dif: -290 NS:-7 3NS4 430 7.0 2
» Q82 IMP: -5 EW:-4 3SE-1 50 30 1 & 972 IMP: -7 EW:0 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » U862 28W-150 Mean: 2DXE-2 300 70 1||# 18 & AJT7865 2883°140° Mean: 4ss5 650 11.0 1
v 9653 3HN-2-100 0 2SE-2 100 30 1 v T984 3883140 70 4SN4 620 11.0 1
* AB Dif: 150 NS:2 1NS1 90 30 1 ¢ J4 Dif: 0 NS:2 2SN4 170 3.0 1
» AK6 IMP: 4 EW:3 3SE-1 50 20 1 &9 IMP: 0 EW:-2 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POEVEN L AL 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 5SXE-5 1400 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 110 Mean: 2HS3 140 30 1
v AQ42 5HW-4 400 240 6HXW-4 1100 130 1 v T94 3CN3110 40  3CN3 110 20 1
+ KQJ2 Dif: 1000 NS:15 5DXS5 550 7.0 2 ¢ 73 Dif: 0 NS:2 2SS2 110 20 1
a4 IMP: 14 EW:-4 5SE-5 500 60 1 & K76542 IMP: 0 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
2 NS: B=&3 H BIE(EEO) 12 10 NS: BiE# %R (BAC) 2 VP:| 13.72 : 6.28 Total VP: 52.69 Rank:
EW: &8 F2EEAC) -2 EW: #/NB =& (5FO) 1 IMP:| 21 10 7
_ _
# 11 » AQ7 2SS-2 -100 Mean: 1SS1 80 40 1 |[|# 12 8 3NW3 -400 Mean: 1NE3 150 6.0 2
v AQ95 2SS-1-50 -80  2S8S-1 -50 10 2 v KJ5 4SE4 -420 -380 4SE4 420 1.0 7
¢ 974 Dif: -50 NS:-1 3SS-2 100 1.0 1 ¢ JT4 Dif: 20 NS:-1  3NW3 400 1.0 1
» J74 IMP: -2 EW:-1 3CW3 110 1.0 2 » QJ8652 IMP: 1 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
& A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~m~~~~ ¢ 653 S 1~~~~ ¢KQr72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 » KO SDE3-110 Mean: 3NW-2 200 70 1||# 14 » Q986 18W1-80 Mean: 4HW-2 100 40 3
v QT43 2SS-2-200 -90  3HN3 140 6.0 1 w7 2HW3 -140 40  4HW-1 50 30 3
T Dif: 90 NS:-1 2SS2 110 50 2 ¢ AJB2 Dif: 60 NS:-1  1SW1 80 1.0 1
& QT9532 IMP: 3 EW:3 4CN-1 -100 0.0 1 & KQ64 IMP: 2 EW:3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 4HW-150 Mean: 4HW-2 100 40 1 |[|# 16 4 76 4HS5 450 Mean: 4HS5 450 7.0 1
v6 4HW-150 -40  3NW-2 100 40 1 v AKJ72 3NS4430 140  4HN4 420 7.0 1
o JT87652 Dif: 0 NS:3  4HW-1 50 30 5 ¢ Q83 Dif: 20 NsS:7 3NS4 430 7.0 2
» Q82 IMP: 0 EW:-3 3SE-1 50 30 1 & 972 IMP: 1 EW:-7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 1NS190 Mean: 2DXE-2 300 70 1 [|# 18 & AJT765 48S8:2-200 Mean: 4SS5 650 11.0 1
v 9653 3SE-150 o 2SE-2 100 3.0 1 v T984 2SN3140 70 4SN4 620 110 1
* AB Dif: 40 NS:3 1NS1 90 30 1 ¢ J4 Dif: -340 NS:-7 2SN4 170 3.0 1
» AK6 IMP: 1 EW:-2 3SE-1 50 20 1 &9 IMP: -8 EW:-2 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
¢ K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 5DXS5 550 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2HS3 140 Mean: 2HS3 140 30 1
v AQ42 5DXN-1-100 240 6HXW-4 1100 13.0 1 v T94 2CN3110 40  3CN3 110 20 1
+ KQJ2 Dif: 650 NS:7 5DXS5 550 7.0 2 ¢ 73 Dif: 30 NS:3 2S8S2 110 20 1
a4 IMP: 12 EW:8 5SE-5 500 60 1 & K76542 IMP: 1 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 »~ Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
3 NS: =i 2 £ 1E&GH0) -13 8 NS: FRELHE EéE5&R (EAC) -19 VP:| 12.51 7.49 Total VP: 38.24 Rank:
EW: 35090 EEREC) 13 EW: JEIR2E RR5T(590) 19 IMP:| 28 21 12
_ —
# 11 » AQ7 2SS-2 -100 Mean: 1SS1 80 40 1 |[|# 12 8 1NE3 -150 Mean: 1NE3 150 6.0 2
v AQ95 3CW3-110 -80  2SS-1 -50 10 2 v KJ5 4SE4 -420 -380 4SE4 420 1.0 7
¢ 974 Dif: 10 NS:-1  3SS-2 100 1.0 1 ¢ JT4 Dif: 270 NS:6 3NW3 400 1.0 1
» J74 IMP: 0 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: 7 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ »QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 a K9 1NN-2 -200 Mean: 3NW-2 20 70 1[|# 14 » Q986 2HW2-110 Mean: 4HW-2 100 40 3
v QT43 3DXE3 -670 -90  3HN3 140 6.0 1 w7 4HW-2100 -40  4HW-1 50 30 3
T Dif: 470 NS:-3 2SS2 110 50 2 ¢ AJB2 Dif: -210 NS:-2 1SW1 80 1.0 1
& QT9532 IMP: 10 EW:11  4CN-1 -100 0.0 1 & KQ64 IMP: -5 EW:-4 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ ¢Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 1HW3 -140 Mean: 4HW-2 100 40 1 |[|# 16 4 76 2HN3 140 Mean: 4HS5 450 7.0 1
v6 1HW3 -140 -40  3NW-2 100 40 1 v AKJ72 3SW3 -140 140  4HN4 420 7.0 1
o JT87652 Dif: 0 NS:-3 4HW-1 50 30 5 ¢ Q83 Dif: 280 NS:0 3NS4 430 7.0 2
» Q82 IMP: 0 EW:3 3SE-1 50 30 1 & 972 IMP: 7 EW:7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 2SE-150 Mean: 2DXE-2 300 70 1 [|# 18 & AJT765 4SN-2-200 Mean: 4SS5 650 11.0 1
v 9653 3NN-2-100 0 2SE-2 100 3.0 1 v T984 2SN4 170 70 4SN4 620 110 1
* AB Dif: 150 NS:2 1NS1 90 30 1 ¢ J4 Dif: -370 NS:-7 2SN4 170 3.0 1
» AK6 IMP: 4 EW:3 3SE-1 50 20 1 &9 IMP: -9 EW:-3 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 4HXW-1200 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 1NE1 -90 Mean: 2HS3 140 30 1
v AQ42 5HXE-2 500 240 6HXW-4 1100 13.0 1 v T94 A 40  3CN3 110 20 1
+ KQJ2 Dif: -300 NS:-1 5DXS5 550 7.0 2 ¢ 73 Dif: 0 NS:-4 2SS2 110 20 1
a4 IMP: -7 EW:-6 5SE-5 500 60 1 & K76542 IMP: 0 EW:0 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
4 NS: BE#E S ZFEEEEO) -2 9 NS: 3% 88 $&(FAC) 6 VP:| 6.86 13.14| Total VP: 25.07 Rank:
EW: BRARSE BokiEERC) -6 EW: BE0H FE#%L(5F0) 2 IMP:| 22 31 14
_ —_ oy
# 11 » AQ7 2HE2 -110 Mean: 1SS1 80 40 1 [[|# 12 8 4SE5 -450 Mean: 1NE3 150 6.0 2
v AQ95 2SS-2-100 -80  2SS-1 -50 10 2 v KJ5 4SE5 -450 -380  4SE4 420 1.0 7
¢ 974 Dif: -10 NS:-1 3SS-2 100 1.0 1 ¢ JT4 Dif: 0 NS:-2 3NW3 400 1.0 1
» J74 IMP: 0 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: 0 EW:2 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 » K9 4CN-1 -100 Mean: 3NW-2 200 70 1 ||# 14 » Q986 4HW-2 100 Mean: 4HW-2 100 40 3
v QT43 3DE3 110 -90  3HN3 140 6.0 1 w7 2HW3 140 -40  4HW-1 50 3.0 3
T Dif: 10 NS:0 2SS2 110 50 2 ¢ AJB2 Dif: 240 NS:4 1SW1 80 1.0 1
& QT9532 IMP: 0 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: 6 EW:3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
a A4 & 876 28S-2 200 3.0 1||a9 a JT832
POV PN , Q8432 1NN-2 200 -3.0 1 POEVEN L J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 3SE-150 Mean: 4HW-2 100 40 1 |[|# 16 4 76 2HN4 170 Mean: 4HS5 450 7.0 1
v6 4HW4 -420 -40  3NW-2 100 40 1 v AKJ72 3NS4430 140 4HN4 420 7.0 1
o JT87652 Dif: 470 NS:3 4HW-1 50 30 5 + Q83 Dif: -260 NS:1  3NS4 430 7.0 2
» Q82 IMP: 10 EW:9 3SE-1 50 30 1 & 972 IMP: -6 EW:-7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ % S ~33~~ ¢KJ652 3SW3 140 7.0 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 2SE-2 100 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 2883140 Mean: 4SS5 650 11.0 1
v 9653 3HN-3-150 0 2SE-2 100 30 1 v T984 4SN4 620 70 4SN4 620 11.0 1
* AB Dif: 250 NS:3 1NS1 90 30 1 ¢ J4 Dif: -480 NS:2 2SN4 170 3.0 1
» AK6 IMP: 6 EW:4 3SE-1 50 20 1 &9 IMP: -10 EW:-11 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 * Q954 3NN-1 50 20 1 ||e AT5 + Q9876 48S-1 100 -5.0 1
» QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POEVEN LA4 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 4HXW4 -790 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 110 Mean: 2HS3 140 30 1
v AQ42 5SE-5500 240 6HXW-4 1100 13.0 1 v T94 2CN3 110 40  3CN3 110 20 1
+ KQJ2 Dif: -1290 NS:-14 5DXS5 550 7.0 2 ¢ 73 Dif: 0 NS:2 2SS2 110 20 1
a4 IMP: -15 EW:-6 5SE-5 500 60 1 & K76542 IMP: 0 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 & 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 ||w J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 100 80 1[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AN >\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTEE(71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
5 NS: FE58 sRE#(BHO) 7 14 NS: B3 BeE (FAC) -2 VP:| 12.51 7.49 Total VP: 60.28 Rank:
EW: &#% HREiEAC) 2 EW: Rocky Tam Barney L IMP:| 30 23 3
_ oy
# 11 » AQ7 2SS-1-50 Mean: 1SS1 80 40 1 [[|# 12 8 4SE4 -420 Mean: 1NE3 150 6.0 2
v AQ95 3SS-2-100 -80  2SS-1 -50 10 2 v KJ5 4SE4 -420 -380 4SE4 420 1.0 7
¢ 974 Dif: 50 NS:1 3SS-2 4100 1.0 1 ¢ JT4 Dif: 0 NS:-1  3NW3 400 1.0 1
» J74 IMP: 2 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: 0 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 & AQT92
v T43 v KJ62 2HE2 410 1.0 2 ||w 7632 | v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 || 83 + A965
» A85 & KT92 3HE3 440 20 1 ||a A7 & KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ »QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 a K9 3DE4 -130 Mean: 3NW-2 200 70 1 ||# 14 » Q986 4HW-150 Mean: 4HW-2 100 40 3
v QT43 28S2110 -90  3HN3 140 6.0 1 w7 3CS-3-150 -40  4HW-1 50 30 3
T Dif: -240 NsS:-1 2SS2 110 50 2 ¢ AJB2 Dif: 200 NS:3 1SW1 80 1.0 1
& QT9532 IMP: -6 EW:-5 4CN-1 -100 0.0 1 & KQ64 IMP: 5 EW:3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
a A4 & 876 28S-2 200 3.0 1||a9 a JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 3NW-2 100 Mean: 4HW-2 100 40 1 |[|# 16 4 76 2NS-2-100 Mean: 4HS5 450 7.0 1
v6 4HW-150 -40  3NW-2 100 40 1 v AKJ72 3SE-1100 140  4HN4 420 7.0 1
o JT87652 Dif: 50 NS:4 4HW-1 50 30 5 ¢ Q83 Dif: -200 NS:-6 3NS4 430 7.0 2
» Q82 IMP: 2 EW:-3 3SE-1 50 30 1 & 972 IMP: -5 EW:1 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 4140 3.0 1 ||e 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ % S ~33~~ ¢KJ652 3SW3 140 7.0 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 2SE-150 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 4885650 Mean: 4SS5 650 11.0 1
v 9653 3NN-1-50 0 2SE-2 100 3.0 1 v T984 4SS-1-100 70  4SN4 620 11.0 1
* AB Dif: 100 NS:2 1NS1 90 30 1 ¢ J4 Dif: 750 NS:11 2SN4 170 3.0 1
» AK6 IMP: 3 EW:2 3SE-1 50 20 1 &9 IMP: 13 EW:5 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 * Q954 3NN-1 50 20 1 ||e AT5 + Q9876 48S-1 100 -5.0 1
» QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 5DXS-1-100 Mean: 5SXE-5 1400 150 1 ||# 20 s 96 2SS2 110 Mean: 2HS3 140 30 1
v AQ42 5DXS5550 240 6HXW-4 1100 130 1 v T94 1NE1-90 40  3CN3 110 20 1
+ KQJ2 Dif: -650 NS:-8 5DXS5 550 7.0 2 ¢ 73 Dif: 200 NS:2 2SS2 110 20 1
a4 IMP: -12 EW:-7 5SE-5 500 60 1 & K76542 IMP: 5 EW:4 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 & 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 ||w J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 100 80 1[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




St - - 2
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
6 NS: BR¥K EREREIC) 9 1 NS: fa[5Z&h &%%(EﬁOMl VP:| 10.00 : 10.00| Total VP: 57.21 Rank:
EW: &% HHEGIO) -5 EW: #8535 HEE&& (BAC) -9 IMP:| 19 19 4
_ — e
# 11 » AQ7 3HE3 140 Mean: 1SS1 80 40 1 [[|# 12 8 4SE4 420 Mean: 1NE3 150 6.0 2
v AQ95 2HE2110 -80  2SS-1 -50 10 2 v KJ5 4SE5450 -380 4SE4 420 1.0 7
¢ 974 Dif: 30 NS:-1  3SS-2 100 1.0 1 ¢ JT4 Dif: -30 NS:-2 3NW3 400 1.0 1
» J74 IMP: 1 EW:2 3CW3 110 1.0 2 » QJ8652 IMP: -1 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ »QT84
S ~m~~~~ ¢ 653 S 1~~~~ ¢KQr72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 K9 3DE3 110 Mean: 3NW-2 200 70 1 |[|# 14 » Q986 2HW3 140 Mean: 4HW-2 100 40 3
v QT43 2DE3 110 -90  3HN3 140 6.0 1 w7 4HW-2 -100 -40  4HW-1 50 3.0 3
T Dif: 0 NS:-1 2SS2 110 50 2 ¢ AJB2 Dif: 240 NS:4 1SW1 80 1.0 1
& QT9532 IMP: 0 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: 6 EW:3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN , Q8432 1NN-2 200 -3.0 1 POEVEN L J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ ¢Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 2HW2 110 Mean: 4HW-2 100 40 1 |[|# 16 4 76 3NS-3150 Mean: 4HS5 450 7.0 1
v6 4HW-2 -100 -40  3NW-2 100 40 1 v AKJ72 2HN3 -140 140  4HN4 420 7.0 1
o JT87652 Dif: 210 NS:4 4HW-1 50 30 5 + Q83 Dif: 290 NsS:-0 3NS4 430 7.0 2
» Q82 IMP: 5 EW:2 3SE-1 50 30 1 & 972 IMP: 7 EW:7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1 ~~3~
# 17 » J862 28W-1-50 Mean: 2DXE-2 300 70 1 [|# 18 & AJT765 2883 -140 Mean: 4SS5 650 11.0 1
v 9653 3HN-2100 © 2SE-2 100 30 1 v T984 38S3-140 70 4SN4 620 11.0 1
* AB Dif: -150 NS:-3 1NS1 90 30 1 ¢ J4 Dif: 0 NS:2 2SN4 170 3.0 1
» AK6 IMP: -4 EW:-2 3SE-1 50 20 1 &9 IMP: 0 EW:-2 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POEVEN L AL 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 5SXE-5 -1400 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 -110 Mean: 2HS3 140 30 1
v AQ42 5HW-4 -400 240 6HXW-4 1100 13.0 1 v T94 3CN3-110 40  3CN3 110 20 1
+ KQJ2 Dif: -1000 NS:4 5DXS5 550 7.0 2 ¢ 73 Dif: 0 NS:2 2SS2 110 20 1
a4 IMP: -14 EW:-15 5SE-5 500 60 1 & K76542 IMP: 0 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
7 NS: SE R mER(FHO) 30 11 NS: % B ¥R (FAC) 17 VP:| 19.55 : 0.45 | Total VP: 71.05 Rank:
EW: F4E=F BREBHEAC) 17 EW: BHELR SRE(E(FFO) -3 IMP:| 53 10 1
_ . —
# 11 » AQ7 3CW3 -110 Mean: 1SS1 80 40 1 |[|# 12 8 1NE3 -150 Mean: 1NE3 150 6.0 2
v AQ95 2CW4 130 -80  2SS-1 -50 10 2 v KJ5 4SE5 -450 -380  4SE4 420 1.0 7
¢ 974 Dif: 20 NS:-1  3SS-2 100 1.0 1 ¢ JT4 Dif: 300 NS:6 3NW3 400 1.0 1
» J74 IMP: 1 EW:2 3CW3 110 1.0 2 » QJ8652 IMP: 7 EW:2 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
& A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 a K9 3HN3 140 Mean: 3NW-2 200 70 1 ||# 14 » Q986 4HW-150 Mean: 4HW-2 100 40 3
v QT43 3DE4-130 -90  3HN3 140 6.0 1 w7 4HW-150 -40  4HW-1 50 30 3
T Dif: 270 NS:6 2SS2 110 50 2 ¢ AJB2 Dif: 0 NS:3 1SwW1 80 1.0 1
& QT9532 IMP: 7 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: 0 EW:-3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 4HW-150 Mean: 4HW-2 100 40 1 |[|# 16 4 76 4HN4 420 Mean: 4HS5 450 7.0 1
v6 1HW3 -140 -40  3NW-2 100 40 1 v AKJ72 3SW4 -170 140  4HN4 420 7.0 1
o JT87652 Dif: 190 NS:3  4HW-1 50 30 5 ¢ Q83 Dif: 590 NS:7 3NS4 430 7.0 2
» Q82 IMP: 5 EW:3 3SE-1 50 30 1 & 972 IMP: 11 EW:7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 3HN-3 -150 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 4SN-1-100 Mean: 4SS5 650 11.0 1
v 9653 2DXE-2300 © 2SE-2 100 3.0 1 v T984 48S-2 -200 70 4SN4 620 110 1
* AB Dif: -450 NS:-4 1NS1 90 30 1 ¢ J4 Dif: 100 NS:-5 2SN4 170 3.0 1
» AK6 IMP: -10 EW:-7 3SE-1 50 20 1 &9 IMP: 3 EW:7 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
¢ K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 6HXW-4 1100 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 110 Mean: 2HS3 140 30 1
v AQ42 5HW-2200 240 6HXW-4 1100 130 1 v T94 ANE1-90 40  3CN3 110 20 1
+ KQJ2 Dif: 900 NS:13 5DXS5 550 7.0 2 ¢ 73 Dif: 200 NS:2 2SS2 110 20 1
a4 IMP: 14 EW:1 5SE-5 500 60 1 & K76542 IMP: 5 EW:4 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 »~ Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AN >\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
8 NS: HhERE BH4E5REAC) -13 3 NS: E5 12£i%(BF0) -1 VP:| 7.49 12.51| Total VP: 39.79 Rank:
EW: JE#ES5 RiET(GH0) 13 EW: 33788 #E#7z(BAC) 13 IMP:| 21 28 1
_ —
# 11 » AQ7 2SS-2100 Mean: 1SS1 80 40 1 [[|# 12 8 1NE3 150 Mean: 1NE3 150 6.0 2
v AQ95 3CW3110 -80 2SS+ -50 10 2 v KJ5 4SE4 420 -380 4SE4 420 1.0 7
¢ 974 Dif: -10 NS:-1 3SS-2 100 1.0 1 ¢ JT4 Dif: -270 NS:-1  3NW3 400 1.0 1
» J74 IMP: 0 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: -7 EW:-6 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
& A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ »QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 P 1NN-2200 Mean: 3NW-2 200 70 1||# 14 » Q986 2HW2110° Mean: 4HW-2 100 40 3
v QT43 3DXE3 670 -90  3HN3 140 6.0 1 w7 4HW-2 -100 -40  4HW-1 50 3.0 3
T Dif: -470 NS:-11 2SS2 110 50 2 ¢ AJB2 Dif: 210 NS:4 1SW1 80 1.0 1
& QT9532 IMP: -10 EW:3 4CN-1 -100 0.0 1 & KQ64 IMP: 5 EW:2 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN , Q8432 1NN-2 200 -3.0 1 POEVEN L J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 1HW3 140 Mean: 4HW-2 100 40 1 |[|# 16 4 76 2HN3 -140 Mean: 4HS5 450 7.0 1
v6 1HW3 140 -40  3NW-2 100 40 1 v AKJ72 3SW3 140 140  4HN4 420 7.0 1
o JT87652 Dif: 0 NS:-3 4HW-1 50 30 5 + Q83 Dif: -280 NS:-7 3NS4 430 7.0 2
» Q82 IMP: 0 EW:3 3SE-1 50 30 1 & 972 IMP: -7 EW:-0 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1 ~~3~
# 17 » J862 2SE-1 -50 Mean: 2DXE-2 300 70 1 [|# 18 & AJT765 4SN-2200 Mean: 4sS5 650 11.0 1
v 9653 3NN-2100 © 2SE-2 100 30 1 v T984 2SN4 170 70 4SN4 620 11.0 1
* AB Dif: -150 NS:-3 1NS1 90 30 1 ¢ J4 Dif: 370 NS:3 2SN4 170 3.0 1
» AK6 IMP: -4 EW:-2 3SE-1 50 20 1 &9 IMP: 9 EW:7 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
¢ K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POEVEN L AL 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 4HXW-1-200 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 1NE1 90 Mean: 2HS3 140 30 1
v AQ42 5HXE-2 -500 240 6HXW-4 1100 13.0 1 v T94 A 40  3CN3 110 20 1
+ KQJ2 Dif: 300 NS:6 5DXS5 550 7.0 2 ¢ 73 Dif: 0 NS:-0 2SS2 110 20 1
a4 IMP: 7 EW:1 5SE-5 500 60 1 & K76542 IMP: 0 EW:4 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




St - - 2
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
9 NS: Bt 8% $2(AC) 6 4 NS: Bt ¥IE(30) 2| VP:| 1314 : 6.86 | Total VP:|  54.29 Rank:
EW: BRECH BB ERL(GE0) 2 EW: BHEARSC BakiE (EAC) -6 IMP:| 31 22 5
_ — e
# 11 » AQ7 2HE2 110 Mean: 1SS1 80 40 1 [[|# 12 8 4SE5 450 Mean: 1NE3 150 6.0 2
v AQ95 2SS-2100 -80  28S-1 50 1.0 2 v KJ5 4SE5 450 -380 4SE4 420 1.0 7
¢ 974 Dif: 10 NS:-1  3SS-2 100 1.0 1 ¢ JT4 Dif: 0 NS:-2 3NW3 400 1.0 1
» J74 IMP: 0 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: 0 EW:2 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2Ccw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 a K9 4CN-1100 Mean: 3NW-2 20 70 1[|# 14 » Q986 4HW-2-100 Mean: 4HW-2 100 40 3
v QT43 3DE3110 -90  3HN3 140 6.0 1 w7 2HW3 140 -40  4HW-1 50 30 3
T Dif: -10 NS:-1  2SS2 110 50 2 ¢ AJB2 Dif: -240 NS:-3 1SW1 80 1.0 1
& QT9532 IMP: 0 EW:-0 4CN-1 -100 0.0 1 & KQ64 IMP: -6 EW:-4 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 470 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 3SE-1-50 Mean: 4HW-2 100 40 1 |[|# 16 4 76 2HN4 -170 Mean: 4HS5 450 7.0 1
v6 4HW4 420 -40  3NW-2 100 40 1 v AKJ72 3NS4-430 140  4HN4 420 7.0 1
o JT87652 Dif: -470 NS:-9 4HW-1 50 30 5 ¢ Q83 Dif: 260 NS:7 3NS4 430 7.0 2
» Q82 IMP: -10 EW:-3 3SE-1 50 30 1 & 972 IMP: 6 EW:-1 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v73 3HW3 140 3.0 1 ||e64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 2SE-2 -100 Mean: 2DXE-2 300 70 1 [|# 18 & AJT765 2883 -140 Mean: 4SS5 650 11.0 1
v 9653 3HN-3150 0 2SE-2 100 3.0 1 v T984 4SN4 -620 70 4SN4 620 110 1
* AB Dif: -250 NS:-4 1NS1 90 30 1 ¢ J4 Dif: 480 NS:11 2SN4 170 3.0 1
» AK6 IMP: -6 EW:-3 3SE-1 50 20 1 s 9 IMP: 10 EW:-2 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
¢ K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 4HXW4 790 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 -110 Mean: 2HS3 140 30 1
v AQ42 5SE-5-500 240 6HXW-4 1100 13.0 1 v T94 2CN3 -110 40  3CN3 110 20 1
+ KQJ2 Dif: 1290 NS:6 5DXS5 550 7.0 2 ¢ 73 Dif: 0 NS:2 2SS2 110 20 1
a4 IMP: 15 EW:14 5SE-5 500 60 1 & K76542 IMP: 0 EW:-2 2CN3 110 20 5
# 53 & AK972 SHXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 »~ Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTEE(71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
1 O NS: B Z2REEEIC) 2 2 NS: 755 MRS (BHO) 12 VP:| 6.28 13.72| Total VP: 47.28 Rank:
EW: #8/NEl B4 FEEE0) -12 EW: K&K EEE(FAC) -2 IMP:| 10 21 9
_ -
# 11 » AQ7 2SS-2100 Mean: 1SS1 80 40 1 [[|# 12 8 3NW3 400 Mean: 1NE3 150 6.0 2
v AQ95 2SS-150 -80 2SS4 -50 10 2 v KJ5 4SE4 420 -380 4SE4 420 1.0 7
¢ 974 Dif: 50 NsS:1 3SS-2 100 1.0 1 ¢ JT4 Dif: 20 NS:-1  3NW3 400 1.0 1
» J74 IMP: 2 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: -1 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 Ko 2DE3 110 Mean: 3NW-2 200 70 1 |[|# 14 » Q986 1SW1'80 Mean: 4HW-2 100 40 3
v QT43 2SS-2200 -90  3HN3 140 6.0 1 w7 2HW3 140 -40  4HW-1 50 3.0 3
T Dif: -90 NS:-3 2SS2 110 50 2 ¢ AJB2 Dif: -60 NS:-3 1SW1 80 1.0 1
& QT9532 IMP: -3 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: -2 EW:1 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
a A4 & 876 28S-2 200 3.0 1||a9 a JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 4HW-1-50 Mean: 4HW-2 100 40 1 |[|# 16 4 76 4HS5 -450 Mean: 4HS5 450 7.0 1
v6 4HW-1-50 -40  3NW-2 100 40 1 v AKJ72 3NS4-430 140  4HN4 420 7.0 1
o JT87652 Dif: 0 NS:3  4HW-1 50 30 5 ¢ Q83 Dif: 20 NS:7 3NS4 430 7.0 2
» Q82 IMP: 0 EW:-3 3SE-1 50 30 1 & 972 IMP: -1 EW:-7 3HN4 170 1.0 1
» Q85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 4140 3.0 1 ||e 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
» K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ % S ~33~~ ¢KJ652 3SW3 140 7.0 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 1NS1-90 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 488-2200 Mean: 4SS5 650 11.0 1
v 9653 3SE-1-50 0 2SE-2 100 3.0 1 v T984 2SN3-140 70  4SN4 620 11.0 1
* AB Dif: -40 NS:2 1NS1 90 30 1 ¢ J4 Dif: 340 NS:2 2SN4 170 3.0 1
» AK6 IMP: -1 EW:-3 3SE-1 50 20 1 &9 IMP: 8 EW:7 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 * Q954 3NN-1 50 20 1 ||e AT5 + Q9876 48S-1 100 -5.0 1
» QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 5DXS5 -550 Mean: 5SXE-5 1400 150 1 ||# 20 s 96 2HS3 140 Mean: 2HS3 140 30 1
v AQ42 5DXN-1100 240 6HXW-4 1100 13.0 1 v T94 2CN3-110 40  3CN3 110 20 1
+ KQJ2 Dif: -650 NS:-8 5DXS5 550 7.0 2 ¢ 73 Dif: -30 NS:2 2S8S2 110 20 1
a4 IMP: -12 EW:-7 5SE-5 500 60 1 & K76542 IMP: -1 EW:-3 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 & 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 ||w J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 100 80 1[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1 ~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
1 1 NS: % 1 =5ZKEAC) -17 7 NS: 3f#E% sREEL (BHO) 30 VP:| 0.45 19.55| Total VP: 46.98 Rank:
EW: BRELE TREXZ(BH0) -30 EW: E845F BEA(BAC) 17 IMP:| 10 53 10
_ I —
# 11 » AQ7 3CW3 110 Mean: 1SS1 80 40 1 [[|# 12 8 1NE3 150 Mean: 1NE3 150 6.0 2
v AQ95 2CW4 130 -80  2SS-1 -50 10 2 v KJ5 4SE5 450 -380 4SE4 420 1.0 7
¢ 974 Dif: -20 NS:-2 3SS-2 100 1.0 1 ¢ JT4 Dif: -300 NS:-2 3NW3 400 1.0 1
» J74 IMP: -1 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: -7 EW:-6 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ »QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 a K9 3HN3 -140 Mean: 3NW-2 200 70 1 ||# 14 » Q986 4HW-1-50 Mean: 4HW-2 100 40 3
v QT43 3DE4 130 -90  3HN3 140 6.0 1 w7 4HW-1 -50 -40  4HW-1 50 30 3
T Dif: -270 NS:-1 2SS2 110 50 2 ¢ AJB2 Dif: 0 NS:3 1Sw1 80 1.0 1
& QT9532 IMP: -7 EW:-6 4CN-1 -100 0.0 1 & KQ64 IMP: 0 EW:-3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
a A4 & 876 28S-2 200 3.0 1||a9 a JT832
POV PN , Q8432 1NN-2 200 -3.0 1 POEVEN L J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ ¢Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 4HW-1-50 Mean: 4HW-2 100 40 1 |[|# 16 4 76 4HN4 -420 Mean: 4HS5 450 7.0 1
v6 1HW3 140 -40  3NW-2 100 40 1 v AKJ72 3SW4170 140  4HN4 420 7.0 1
o JT87652 Dif: 190 NS:-3 4HW-1 50 30 5 + Q83 Dif: -590 NS:-7 3NS4 430 7.0 2
» Q82 IMP: -5 EW:-3 3SE-1 50 30 1 & 972 IMP: -11 EW:-7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ % S ~33~~ ¢KJ652 3SW3 140 7.0 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1 ~~3~
# 17 » J862 3HN-3 150 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 4SN-1100 Mean: 4ss5 650 11.0 1
v 9653 2DXE-2-300 0 2SE-2 100 30 1 v T984 4SS-2200 70 4SN4 620 11.0 1
+ A6 Dif: 450 NS:7 1NS1 90 30 1 ¢ J4 Dif: -100 NS:-7 2SN4 170 3.0 1
» AK6 IMP: 10 EW:4 3SE-1 50 20 1 &9 IMP: -3 EW:5 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 * Q954 3NN-1 50 20 1 ||e AT5 + Q9876 48S-1 100 -5.0 1
» QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POEVEN LA4 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 6HXW-4 -1100 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 -110 Mean: 2HS3 140 30 1
v AQ42 5HW-2 -200 240 6HXW-4 1100 13.0 1 v T94 INE190 40  3CN3 110 20 1
+ KQJ2 Dif: -900 NS:-1 5DXS5 550 7.0 2 ¢ 73 Dif: -200 NS:-4 2SS2 110 20 1
a4 IMP: -14 EW:-13 5SE-5 500 60 1 & K76542 IMP: -5 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 & 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 ||w J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 100 80 1[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~
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NS: =1 JFSEEGHO) -14 1 3 NS: 2:ER TR (EAC) -2 VP:| 9.23 10.77 | Total VP: 51.09 Rank:
EW: 5 =TIBR(FAC) 20 EW: Bi#=41 BEIE3T (390) 14 IMP:| 14 16 8
oy
» AQ7 2CW3 -110 Mean: 1SS1 80 40 1 [[|# 12 8 4SE4 -420 Mean: 1NE3 150 6.0 2
v AQ95 1SS180 -80  2SS-1 -50 10 2 v KJ5 4SE4 -420 -380 4SE4 420 1.0 7
¢ 974 Dif: 190 NS:-1 3SS-2 100 1.0 1 ¢ JT4 Dif: 0 NS:-1 3NW3 400 1.0 1
» J74 IMP: -5 EW:-4 3CW3 110 1.0 2 » QJ8652 IMP: 0 EW:1 4SE5 450 2.0 4
8 28S-2 -100 1.0 3 ||a K763 & AQT92
v KJ62 2HE2 110 1.0 2 || 7632 I v A9
¢ JT82 2CW3 110 1.0 1 ||e 83 + A965
& KT92 3HE3 140 20 1 ||a A7 & KT
a KJT32 2cw4 130 20 1 PEVEN 4 J54
v 87 N 1~~~~ » QT84
¢ 653 S 1 ~~~~ ¢KQ72
» Q63 E ~2253 9%
~2253
a K9 3NW-2200 Mean: 3NW-2 200 70 1 ||# 14 » Q986 2HW3 -140 Mean: 4HW-2 100 40 3
v QT43 2SS2110 -90  3HN3 140 6.0 1 w7 2HW4 170 -40  4HW-1 50 3.0 3
T Dif: 90 NsS:7 2SS2 110 50 2 ¢ AJB2 Dif: 30 NS:-3 1SwW1 80 1.0 1
& QT9532 IMP: 3 EW:-5 4CN-1 -100 0.0 1 & KQ64 IMP: 1 EW:4 2HW2 110 20 1
N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
—I— ¢ KQ9532 2DE3 110 1.0 2 [|e K65 ¢ T97 2HW4 170 40 1
& 876 28S-2 200 3.0 1||a9 a JT832
» Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
v K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
* A76 S ~1~~~ Q43
» KJ E ~~211 &A75
1~211
» K2 4HW-150 Mean: 4HW-2 100 40 1 |[|# 16 4 76 3HN3 140 Mean: 4HS5 450 7.0 1
v6 3HW3 -140 -40  3NW-2 100 40 1 v AKJ72 3HN4 170 140  4HN4 420 7.0 1
o JT87652 Dif: 190 NS:3  4HW-1 50 30 5 ¢ Q83 Dif: -30 NS:0 3NS4 430 7.0 2
» Q82 IMP: 5 EW:3 3SE-1 50 30 1 & 972 IMP: -1 EW:-1 3HN4 170 1.0 1
# 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v73 3HW3 4140 3.0 1 ||e 64 — v T53 3HN3 140 00 1
*3 1HW3 140 3.0 3 [|e AT4 ¢ 97 2HN3 140 00 2
& AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
a AJT9 POEVPN 4, Q2 2NS-2 100 -6.0 1
v QJ84 N ~22~~ Q98 3swW4 470 7.0 1
¢ 94 S ~33~~ ¢KJ652 3SW3 140 7.0 1
» J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
1~~3~
s J862 3HN-2-100 Mean: 2DXE-2 300 7.0 1 |[|# 18 & AJT765 48N-1-100 Mean: 4ss5 650 11.0 1
v 9653 1NS-1-50 o 2SE-2 100 3.0 1 v T984 3NS-1-100 70  4SN4 620 11.0 1
* AB Dif: -50 NS:-3 1NS1 90 30 1 ¢ J4 Dif: 0 NS:-5 2SN4 170 3.0 1
» AK6 IMP: -2 EW:2 3SE-1 50 20 1 &9 IMP: 0 EW:5 3SS3 140 20 1
& KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v J4 2SE-1 50 20 2 ||e AK2 | v Q763 2SN3 140 20 1
* Q954 3NN-1 50 20 1 ||e AT5 + Q9876 48S-1 100 -5.0 1
&5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
a Ad 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
v A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
¢ JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
a T42 E 122~~ a&AKQ54
122 ~~
» QT86 4HW4 -620 Mean: 5SXE-5 1400 15.0 1 ||# 20 s 96 1NS190 Mean: 2HS3 140 30 1
v AQ42 5DXS-2-300 240 6HXW-4 1100 13.0 1 v T94 2DE2-90 40  3CN3 110 20 1
+ KQJ2 Dif: -320 NS:-13 5DXS5 550 7.0 2 ¢ 73 Dif: 180 NS:2 2SS2 110 20 1
a4 IMP: -8 EW:11 5SE-5 500 60 1 & K76542 IMP: 5 EW:4 2CN3 110 20 5
& AK972 SHXE-2 500 6.0 1 ||a A842 & 753 1NS1 90 20 1
v KT85 5HW-4 400 40 1 ||w J82 + v K73 A 00 1
S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
& AK52 4HXW-1 200 1.0 1 ||a JT8 » Q9 1NE1 90 40 3
a J4 5DXS-1 -100 8.0 1 POEVEN , KQT
v 5DXN-1 100 80 1[[N 3 ~211 v AQ65
o A987543 5DXS-2 300 110 1 [|S 3 ~311 985
» Q863 4HW4 620 130 1[|E ~1~~~ &A3
4HXW4 790 140 1 ~1~~~




X AY 33z s\ 4 —_—
5 2019E < 3 > REERE B == R 5
U \J
#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
1 3 NS: B& B FEEEIC) 20 12 NS: ZFEH J#5ekE (BE0) -1 VP:| 10.77 : 9.23 Total VP: 33.91 Rank:
EW: ER#ESY BRIgHT(BEO) 14 EW: JeE B0k (EAC) 20 IMP:| 16 14 13
_ I e
# 11 » AQ7 2CW3 110 Mean: 1SS1 80 40 1 [[|# 12 8 4SE4 420 Mean: 1NE3 150 6.0 2
v AQ95 1SS1-80 -80  2SS-1 -50 10 2 v KJ5 4SE4 420 -380 4SE4 420 1.0 7
¢ 974 Dif: 190 NS:4 3SS-2 100 1.0 1 ¢ JT4 Dif: 0 NS:-1 3NW3 400 1.0 1
» J74 IMP: 5 EW:1 3CW3 110 1.0 2 » QJ8652 IMP: 0 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 K9 3NW-2-200 Mean: 3NW-2 200 70 1 |[|# 14 » Q986 2HW3140 Mean: 4HW-2 100 40 3
v QT43 2SS2-110 -90  3HN3 140 6.0 1 w7 2HW4 170 -40  4HW-1 50 3.0 3
T Dif: -90 NS:5 2SS2 110 50 2 ¢ AJB2 Dif: -30 NS:-4 1SW1 80 1.0 1
& QT9532 IMP: -3 EW:-7 4CN-1 -100 0.0 1 & KQ64 IMP: -1 EW:3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
a A4 & 876 28S-2 200 3.0 1||a9 a JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 4HW-1-50 Mean: 4HW-2 100 40 1 |[|# 16 4 76 3HN3 -140 Mean: 4HS5 450 7.0 1
v6 3HW3 140 -40  3NW-2 100 40 1 v AKJ72 3HN4 -170 140  4HN4 420 7.0 1
o JT87652 Dif: -190 NS:-3 4HW-1 50 30 5 ¢ Q83 Dif: 30 NsS:1 3NS4 430 7.0 2
» Q82 IMP: -5 EW:-3 3SE-1 50 30 1 & 972 IMP: 1 EW:-0 3HN4 170 1.0 1
» Q85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
» K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ % S ~33~~ ¢KJ652 3SW3 140 7.0 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 3HN-2100 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 4SN-1100 Mean: 4ss5 650 11.0 1
v 9653 1NS-150 0 2SE-2 100 3.0 1 v T984 3NS-1100 70  4SN4 620 11.0 1
* AB Dif: 50 NS:-2 1NS1 90 30 1 ¢ J4 Dif: 0 NS:-5 2SN4 170 3.0 1
» AK6 IMP: 2 EW:3 3SE-1 50 20 1 &9 IMP: 0 EW:5 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 * Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
» QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 4HW4 620 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 1NS1-90 Mean: 2HS3 140 30 1
v AQ42 5DXS-2300 240 6HXW-4 1100 13.0 1 v T94 2DE290 40  3CN3 110 20 1
+ KQJ2 Dif: 320 NS:-11 5DXS5 550 7.0 2 ¢ 73 Dif: -180 NS:-4 2SS2 110 20 1
a4 IMP: 8 EW:13 5SE-5 500 60 1 & K76542 IMP: -5 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 & 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 100 80 1[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~
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#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
1 4 NS: 81433 BEeE EAC) -2 5 NS: 43t FREH(BEO) 7 VP:| 7.49 : 12.51| Total VP: 68.60 Rank:
EW: Rocky Tam Barney Lui(5H EW: £2#tisk AREIE(FIC) 2 IMP:| 23 30 2
_ e
# 11 » AQ7 2SS-150 Mean: 1SS1 80 40 1 [[|# 12 8 4SE4 420 Mean: 1NE3 150 6.0 2
v AQ95 3SS-2100 -80 2SS4 -50 10 2 v KJ5 4SE4 420 -380 4SE4 420 1.0 7
¢ 974 Dif: -50 NS:-1 3SS-2 100 1.0 1 ¢ JT4 Dif: 0 NS:-1 3NW3 400 1.0 1
» J74 IMP: -2 EW:-1 3CW3 110 1.0 2 » QJ8652 IMP: 0 EW:1 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
» A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 » K9 3DE4 130 Mean: 3NW-2 200 70 1 ||# 14 » Q986 4HW-1-50 Mean: 4HW-2 100 40 3
v QT43 2SS2-110 -90  3HN3 140 6.0 1 w7 3CS-3150 -40  4HW-1 50 3.0 3
T Dif: 240 NS:5 2SS2 110 50 2 ¢ AJB2 Dif: -200 NS:-3 1SW1 80 1.0 1
& QT9532 IMP: 6 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: -5 EW:-3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN , Q8432 1NN-2 200 -3.0 1 POEVEN L J72
N 3~11~ »K9 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 » K2 3NW-2 -100 Mean: 4HW-2 100 40 1 |[|# 16 4 76 2NS-2100 Mean: 4HS5 450 7.0 1
v6 4HW-1-50 -40  3NW-2 100 40 1 v AKJ72 3SE-1-100 140  4HN4 420 7.0 1
o JT87652 Dif: -50 NS:3 4HW-1 50 30 5 + Q83 Dif: 200 NS:-1 3NS4 430 7.0 2
» Q82 IMP: -2 EW:-4 3SE-1 50 30 1 & 972 IMP: 5 EW:6 3HN4 170 1.0 1
» Q85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v 73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
» K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1 ~~3~
# 17 » J862 2SE-1-50 Mean: 2DXE-2 300 70 1 [|# 18 & AJT765 4SS5-650 Mean: 4SS5 650 11.0 1
v 9653 3NN-150 0 2SE-2 100 30 1 v T984 4SS-1100 70 4SN4 620 11.0 1
* AB Dif: -100 NS:-2 1NS1 90 30 1 ¢ J4 Dif: -750 NS:-5 2SN4 170 3.0 1
» AK6 IMP: -3 EW:-2 3SE-1 50 20 1 &9 IMP: -13 EW:-11 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
* K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POEVEN L AL 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 5DXS-1 100 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2SS2 -110 Mean: 2HS3 140 30 1
v AQ42 5DXS5-550 240 6HXW-4 1100 13.0 1 v T94 INE190 40  3CN3 110 20 1
+ KQJ2 Dif: 650 NS:7 5DXS5 550 7.0 2 ¢ 73 Dif: -200 NS:-4 2SS2 110 20 1
a4 IMP: 12 EW:8 5SE-5 500 60 1 & K76542 IMP: -5 EW:-2 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 » Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~




